e







O

. C€

i1 RE &

CNCEE[Kih B3R
POWER CHUCK FOR CNC LATHE

8 D 3 P 225 0 it [RR
HIGH SPEED HOLLOW HYDRAULIC CYLINDER

MEBUM - @M
HIGH PRECISION HARD JAWS AND SOFT JAWS

REERRNA
POWER OPERATED COLLET CHUCK

IT'S VERY WELL
MADE IN TAIWAN

48 B 39 A
XBES

Eternal Management

o {2 2

Reliable Conception

ZPRE

Customer Satisfaction

SERl

Reasonable Price

ERmE
High Quality




INDEX

= MR ZE5H AR 3R A
3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITHOUT ADAPTOR)

CX =& Rz EskE
3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

RIE=MESRPZHERIT

3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR) (BIG HOLE)

B —MchZesdEssE

2-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITHOUT ADAPTOR)

| P.o JuGekass:] i g
4-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

= M55 B A 58
3-JAW WEDGE TYPE NON THROUGH-
HOLE POWER CHUCK (WITHOUT ADAPTOR)

I

e 1, R LAkl — Mo EE
R e . W 3-JAW WEDGE TYPE NON THROUGH-
OLE POWER CHUCK (WITH ADAPTOR)

L3

i 7 B o 1 5 0
- — ' o

#2.JAW WEDGE TYPE NON THROUGH-
HOLE POWER CHUCK (WITHOUT ADAPTOR)

RE) U TUHEEREERSY

VERTICAL POWER CHUCK



=MREBH7KER

3-JAW WEDGE TYPE NON THROUGH-HOLE
WATERPROOF POWER CHUCK (WITH ADAPTOR)

) % ch 230 9 R AT

SUPER HIGH SPEED THROUGH-HOLE
ROTARY HYDRAULIC CYLINDER

B0 & 8 - 2HEE

SHORT TYPE CYLINDER

o 55 500 0% E R T

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

ch 5 50 88 5Eh R T

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

o P19 Ies} el Chil il
. NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDER

| P.20 WPl Vil SAE IS |

HYDRAULIC CYLINDER COOLANT
COLLECTOR

o P22 bR

STANDARD SOFT JAW

STANDARD HARD JAW

BORBEERIER

POWER OPERATED COLLET CHUCK

38 4 5 5 P24 Eiipal b AL S
STEEL COLLET POWER OPERATED
COLLET CHUCK

EH 9O#EEERE

POWER OPERATED COLLET CHUCK



4} B) iB& = History

1989 7 @ EE& - IWAITIHNEPHELE  BEXRBEAIEORHERE - RESE020EHET 2R -
@ Ton Fou was established, factory was located on Tung San Rd., Taichung. The products were large bore hollow hydraulic

chucks and high speed hydraulic hollow cylinders.

1990 £ @ FRMFWBZLERHER - EEHSESOFRSTE - EAEELHIBZATHPWE -
@ New product was launched and earn a high reputation in the marketplace. In order to extend our production, the
factory was moved to Chung San Rd. in Tai Pin City.

1996 = @ BBEHE AMTRI CE MARK B -
@ Approved to CE-MARK Certificate by AMTRI VERTAS.

1997 £ @ $ECZREDBRATHESHIE - AREHERREAES - BEATTIBSBBIR - B8 -
@ Obtained the excellent award of Taiwan Hydrauilc & Pneumatic Association. The factory was expanded again and
relocated to Pan | Rd. in Tai Pin City.

1999 & @ 5HA=E AMTRI, 1S0-9002 i85 - | [t
@ Approved with 1SO 8002 quality certificate by U.K. AMTRL. e ¥ -_.___8 |
o ey S |
2001 £ @ =R OEHEEEE [ SRERE | - | = |
@ Awarded "I's very best made in Taiwan" for chucks and cylinders. i ' ::—_%ﬂ:._
2005 = @ 150 9001 3:2 - e EEsEes
@ Approved with ISO 9001 quality certificate by U.S.A. NSF. S e |
|
2010 z @ SRBW2% - BRER - HBERRLN - RHEHERK - y
REEERRH BN S ERE X BB ERFMEE -
@ After financial tsunami,the economics recovered and the market
demand increased. To satisfy the market and raise quality, the factory D s O
was expanded again and relocated to Da Li Rd in Da Li District. et of Bogistration

i omg Emigrperias T, Lk
1 L O
M.

=D

% B & 2 % # R&D and Quality Assurance:




ST KM

U@y = T\ch2esh BESREE (FEmfEiR) TF3B

3-JAW WEDGE TYPE THROUGH-HOLE SERIES
POWER CHUCK (WITHOUT ADAPTOR)

Serration Pitch
4"=18":1.5x60°
217 247:3.0x60°

Eﬁ M, S -
| d i
H= 305
3 z” $ \
w | |o 15° ! =)
1] g ] T — .
mﬂ
a
= I =L}
I i
L B-M1
e LT :
| A Y
Wi SPECIFICATIONS
1B T REE R TF3B
- v : e B TF3B
B [ [ [ f * _Soncitication i E T § 1§ ;T T D O
poor] I I I L] ' MR ()
i . .” | Juw Stroke [Dix) [mem) 54 5.4 55 7.4 B.B e 0.6 10Le 13 13
60 ! ! -t on
: SR
140 = =1 bl 2 i Fiunger Stroke (mm] il i | 12 | 18 T I b 23 23 28 =
{901 e ‘ ey N S i =5 1 s £ = s e
100 = B - BEEE Brvm| 110 135 185 20 254 i 381 450 B30 810
B0 T rram 1 - a | Recommended extemal chzcking . . S :
wg_ = | I L Diarsia bor glanclard gl lop [psirers] Bihlin 5 10 10 12 18 38 40 40 50 50
4 .
w — Thamas 10 =1
o e T B Max. spoed irp.m)| =000 OO0 8000 | 4900 | 4200 | 3300 | 2600 | 2000 | 1TDO | 1400
SOV B R IJ':!I“II
Wiz, Draw Bar Pull Fores an jugh | 14 (1428) |17.5 [1784] 22 (2243) | 34 {34ET) | 43 {4365) |55 (S60H)| TA(T2A0) | T1T240) | B0(B17T)| BATT)
£ 285 36 57 BB 11 s | 180 | 180 2 | M
Clamping-force at Maz,
Do B pull {Total jar force) | (29080 | @&TN | (senzy | iavemy | (a1 | (4eee | (16368) | (18355) | (23861) | (23861)
00" Memant ol |nbertis Illl-h'! oonT 0MAE DOsT AT Das 0,737 2373 4. TR 225 16885
s
Wielght with standard soft top jaws o 4 i 12.5 22 ar 61 120 164 229 287
% 5 B g 0 12 15 15 15 15
Max. pressure 1o RC 4.5 23.5 285 27 2TE bl 238 235 A5 5
oparate bkt
BRTJ3% DIMENSIONS
b3 TF3B
4 5 6 . & 10 12 15 18 21 24
A ) 60 -3 I N ) | 100 mo 132 | 133 148 | 148
B 110 136 169 | 210 254 304 381 450 530 610
CHe B85 110 140 170 220 220 300 300 380 380
D 70.6 B2.55 104,78 | 133.35 171.45 171.45 235 235 330.2 330.2
E 4 4 5 5 5 & & & & &
F 26 33 45 | 52 75 a4 117.6 117.5 170 170
G |Max 3.5 1 11 145 8.5 8 23 11 16 16
Min 6.5 -8 -1 -1.5 -10.5 -15 o -12 -12 -12
H 17.6 20 19 | 205 25 28 35 39 40 40
J 12 12 20 30 45 50 50 50 50 50
K| Max | M32x1.5 | M40x1.5 | MESx2 | MBOx2 MEGx2 MI00x2 | M130x2.0 | M130=2.0 | M180=3.0 | M180=3.0
L |3-M10x60] 3-M10x60 6-M10x80_6-M12x906-M16x100 [6-M16x110 | 6-M20x150| 6-M20x150 | 6-M22%170 | 6-M22x170
M 24 26 28 | 39 43 51 &1 70 70 70
N 49 5 54 &6 95 110 11 135 135 185 185
P 14 14 20 . 25 30 30 43 43 80 80
a KMax 23 268.5 32 38.7 51 81.3 TO 82 108 108
Min 20.3 23.8 29.25 a5 46.6 56 B4.7 76T 101.5 101.5
R Max 11.25 19.75 2275 2975 3375 45 75 54 75 78,25 1M17.6 1M17.5
Min 6.75 7.75 9.25 14.75 14.25 15.75 20.25 18.25 21.5 21.5
s 1.5 1.5 1.5 1.5 1.5 1.5 1.5 1.5 3.0 3.0
T 23 23 32 | a7 40 50 50 50 B2 62
" i 12 16 16 16 20 20 20 20 20
bR . 30 3 | 45 €0 &0 80 80 100 100
Al = 52 B B0 102 100 150 150 200 200
M1 - ME ME | MB Mi0 M10 M12 Mi2 M12 Mi2
t - 5 5 5 5 5 5 5 5 5

BE - BT - 45 BE - 26 PROFESSIONAL - HigH paecision - HicH seeep - seavice - auaLTy N



Umsrany = TSR ch 2ot B F%EE (22 EER)

3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK (WITH ADAPTOR)

F-3BA

SERIES

Serration Pitch
4"=18":1.5x60°

l!1 ", =} T
l"\ B 21" 24":3.0x60 R
'ﬂé*__ ! g %
15°
= LU | =
b 30° <
K 45° B-M1
M ! X
E
J© B Y

Fig 1.

WiftE SPECIFICATIONS

-':“"-—-—_._'-'._E:__'f__ﬂi'_lm TF:II—! 'I';F:Il- TFIE- | TRIE- TEID-| TRIE-| TR36- ﬂlI—ITF!I-;_TF:II- TFiB- | TF3B- . B REEER TF3IDA
R oim S | BAE | | 12A6| 15A8 21491 21AIE 24811 24418 . :

LA w
e Shcladrrirns) 33 | 45 | 52 | 52 | 75 | 75 | @1 | 175 M7.5[117.6| 170 | 70 | 470 | vo |
= i w0 [ 12| 18| 1@ | 18 | 18 | 23| =a | 23 | 23 z8 za | za | 28 |Zw
= n® _
o/ iy Ty -~ A, 54 | 66 74 | 74 |88 | 88 (106|106 108 106 | 13 [ 13 [ 13 | 13 [z, :
- 1 |
wmm 1700 | 2200 | 3400 | 3400 | 4300 | 42300 | 5500 | 7240 | 7240 | 7240 (977 | 9177 [ 0177 | garr| 0 Umme | || \.‘h‘h"\-—
1 0T T 1
e e g ] ] 1 ] | 1 u 1B36E- 23361 2385 i FaEa | | | |
m!!snﬂllqﬁ!!mwﬂm!!m ?:"'E-.B E:as 265 ﬁms ;-;??.5 fzu 5| s fﬂj A /;,f.';,, r’il..;’,:. 55|~ R A I e
e e FODO anm!q.s-un 4900 | 4200 4200 | 3300 | 2500 zmimnn 1700 | 1700 | 1400 | 1400 EET - APM
“--'HH“} 69 |14.2 268 |2405| 409 374 | 595 134 | 127 | 171 | 238 | 2as | zes | 283
A0 i T l
Matohing CyHndar RGS | RCE || AGE | RCGE |RCG10 | RCG1O| RG22 RG1S HE‘ﬁEH‘:T-ﬂ' RCAS | RC1S | RC1E RE1S
| ISR Malching Bsft Jaw | HCOS | HCOS| HCOB| HCO8 | HC10 [ HC10 | HC 12| HC15| HC1s | HE1S [ HO21 | HE21| HE21 He21
[ SMEERT Maching Mard Jaw | HJ05 | HJD6 | HJoB | HA08 | HJ10 | HJ10 | U1 E| HJ15| HJ15 | HJA5 | Fazt | HI21 [ a2 | HJ21 |

BT DIMENSIONS

TFAB-5A4 | TFAB-6AS | TFIB-8A8 TFIB-BAS | TF3IB-10A6 TFIB-10A8 | TFAB-12A6 TFIB-12A8 | TFIB-15A8 TFAB-15A11
B 135 164 10 =10 I SEd 04 S04 TR ETE]
[ 71 81 108 | 103 120 l 113 128 I 122 160 | 148
ﬂglﬂ} ‘_EE. ‘I‘!E__ 133 35 150 5 171,45 4 80 190 1860 I35 2810
14 =0 26 | 25 30 1 0 40 1 30 a3 | FE
E B S |- S I SN A A - ] 25 18 %3%'" N I~
F [=1.1F] B2 BE3 B2 EGE3 | 105378 106378 | 138.718 106376 | 138.718 138.718 | 195868
E{HE) 110 140 70 170 220 220 Z20 220 300 | 300
H Bz 10478 104.78 | 133 a3k 13338 | 171.48 13338 | 17148 171,46 | 2an
J 16.5 18 13 10 18 24 25 25 24 28
. EEAT R [ "l [ 3 | GEMIZ MG | GAMIG BAEMIG | GAMIG [T FL] [ BAMZD
L 33 45 G2 52 75 75 o1 o1 1M7.5 | 117.5
™ 4 B [ | -1 [ | B [ | [ [] | B
P max. 16 26 37.5 31.5 3.5 6.5 33 26 A0 3
P min. 5] 14 21.5 | 15.5 14.5 | 7.5 10 | 3 17 | 1
R 10 12 14 14 18 16 Z1 21 24 24
=) =0 19 205 |  =0E =25 | 25 28 | T an | R
T 23 a2 37 74 Az Az 52 53 a2 (7
[ Umax, | WM4OX15 | ME5X20 | MEOXZ0 | MSOX20 | MBEXZ0 | MBEXZ0 | MIOONZ.0 | MIDOXZ0 | MI130X20 | Mi30Xs
v 3G ARG G100 RN M1 2 BXAE BRI 2 BRAMB B 16 IXMI0
W 45 80 68 l G o l BT 0B | 108 138 | 139
x iz 16 6 16 16 16 20 =0 20 =0
v 30 28 45 | a5 80 ] &0 8o | B0 a0 - 80
a5 B [la] B B i3 102 jLe]s] 00 1500 plf=Cs]
a1 oL hAE L | hig pA1 O ] hA10 % ] ha10 ha1z M2
t 5 =] <] =] [+] =] =] =] B
it e B Fig 1 Fig 1 Figz | Fig1 Figz | Fig1 Figz | Fig1 Fig 2 Fig 1
|n?-‘-§-\," TFIBABA11) TF3B-21A11 | TF3B-21A15| TF3B-24A11 | TF3B-24M15 |- 5 " ITF3B-18A11 TF3B-21A11 |TFIB21A1S TFIB-24A11 |TFIB24A15
A 450 530 530 610 610 P et 33 57 43 57 43
B 149 | 183 169 183 164 | P min. 0 | 29 15 | 29 15
G 260 3302 330.2 3302 330.2 R 24 25 oF 25 ag
D | 4 | &0 60 &0 60 5 30 40 40 40 40
E 22 “H [ 1 S 4 27 7 x | 4 4 | 40 0
F 196860 | 196869 | 28575 | 196869 | 285.75 Umax. | M130X2.0 | M1B0X3.0 | M180X3.0 | M180X3.0 | M180X3.0
C{HE) 300 580 380 380 380
2 — i oy L) JEM10 axM12 BXM12 GXM12 BXM12
H 235 | 3302 S30.2 3302 3 | -ttt
w 138 | 207 207 | 27 207 |
J s = . L = Al 1] 200 200 200 200
K 6XMZ0 | BXM2Z BXMZZ BXMZZ BXMZZ | 1 !
L 75 170 170 170 70 ':“ Mgz | Mﬁ‘li HE'IE | IM;E Hsﬂ
M L] & & i i} Y — A -
X 20 20 20 20 70 £ i Fig1 | Fig2 Fig 1 Fig 2 Fig 1
¥ B0 | 100 100 700 100 meference -

m BE M-8 - BE - BH PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



s = T\ B SR ch Z25M B SR 5E (ARLE)

3-JAW WEDGE TYPE THROUGH-HOLE

POWER CHUCK (WITH ADAPTOR) (BIG HOLE)

T
._.ﬁ
0
-
<l 15
30°
&-M1
BiRtE SPECIFICATIONS
R Dim I Model TF3C-6A5 | TF3C-8A6 | TF3X-10A8  TF3X-12AB | TF3X-12A11
W K Through-Hole (mm} 52 BE TE 10:0 100
EETE Plunger Stroke (mm) 12 17 19 23 23
MiTE { B ) Jaw Stroke (Dia) (mm) 55 7.4 a8 i0.8 10,6
l_mm Max. Draw Bar Pull Force (kgl) F200 3400 4300 I BEQO BH0
WABISN, HRES) Max. Gripping Force (kafikgtior?) | 5700 | 8700 = 11000 7" [14300 " 114300 "
BEE Max. Speed (r.p.m) G000 4600 4200 3300 3300
i Welght (kg) 14.2 245 37.4 &1 &1
m Il;nhhn Cylinder RCS-8 RCS-10 RCS-10X RC15 RC1S
EEEM Matching Soft Jaw HCOS HCOS HC1G HGC12 HC12
WS, Matching Hard Jaw HJ06 HIOH HJ10 | HJ12 HJ12
B3 DIMENSIONS
Tl TF3C-6A5 TF3C-8A6 TF3X-10A8 TF3X-12A8 TFaX-12A11
A 1756 2156 254 318 318
B 75 108.5 113 | 137 126
D 20 25 L] 30 30
E 30 22.5 18 | 33 22
F 82 583 1046.36 139.719 130.7419 196.8
C{HE&} 140 170 220 | 300 300
H 104.78 133.4 171.45 171.45 235
J 16 16 20 | 20 20
K GXM10 6-M12 EXM15 l BXM20 BXM20
L 52 G5 T8 | 110 110
M 5 7 5 [ [&
M max. 32 46 51 | =15 [=1=]
M min. 20,25 42 45,6 63 63
O max 24 25.5 34.5 | 53.5 53.5
O min. 7.5 10.5 12 19 19
P max. 25 12.5 28.5 | ar 26
P min. 12.5 -4.5 7.5 14 3
R 12 14 16 | 21 21
s 19 25 25 28 28
T a2 a7 42 | 52 52
U max. MBOXZ2.0 M7 4XP2.0 METXZ.0 M115X2.0 M115X2.0
v — - - | EXM16 -
W =1+ a2 O 127 127
i 16 16 18 | 20 20
Y 36 A5 &80 &0 &0
A1 65 80 102 | 140 140
M1 Ma (X2 M10 W10 KA1 0
t 5 5 5 | 5 5
B ] Fig. 1 Fig. 1 Fig. 1 Fig. 2 Fig. 1
Refearence

B - WE - 0 - BF - W PROFESSIONAL - HIGH PRECISION * HIGH SPEED - SERVIGE « QUALITY _

CA/TF-3XA

SERIES

Al




opasrana — TR 22 EEFREE (RF2EER)

F2B

Sermration
P 5 T #&P15 0
L~ H
_I,"' 1
=
[VR| E aﬂ &
k 52 &
' &
D | £ B E- g
<| 5l = .
) o) -4 B
7 |
. t i | E-M1
F 4]‘
K B |
HMiR18 SPECIFICATIONS
ﬁ;{ TF2B
Eﬂ.. 4 5 6 8 10 12 15
Mrﬁtﬁhl} 1"_._“.' (PR 5.4 5.4 2.5 | 8.8 10.6 10.8
ﬁﬂﬂﬂlmh (rmm) 10 10 12 18 19 23 23
H'ﬁ'ﬁ’lﬂﬁ-ﬁd g e I M 110 135 165 210 210 304 381
Recomme ern ucking
g"ﬂmﬂhf for standard soft top Jaw |g.p Min, 10 10 10 12 16 38 40
Eﬂﬂf “I = (r.p.m} 8000 7000 000 4800 4200 3300 2600
ﬂmﬂﬁlr g (kgf) 948 1158 1450 2250 2850 3667 4793
il
Clamping-force at Max, (kgf) 1936 2399 3800 5600 7400 9600 12236
Draw Bar pull (Total jaw force)
ﬁnm“l e (xgl.m%) 0.006 0.0017 0.056 0165 0.308 0.7 230
o
it wi wtsiand S5 s} (kg) 18 6.5 11.5 2.3 335 52 115
AR
Matching Cylinder _ #/ 5 6 5/ m/ 12/ 1:/
mi_ﬁiﬂqﬁ:; RC 23 /E /IE 1r.a 18.5 18.5 153
operate_chuck (kallem®)
MR J3% DIMENSIONS
R
Symbal N 0 P
R AE{::“]FHJIELII (R8s |T| N [x|y]|am|m]|¢
Dim Max. | Min. |bax, | Min (Max | Min
4 |110 |58 |85 | 4| 706 |26 | W10 |16 | 14 | 23 (203 [11.25675| 25 | 65|23 | 10 [175| 24 |M32X15| - . .
8 |135 110 | 4 |8255 | 33 |6M10| 16 |14 |265 238|195 6 |16 | 6 (23 (10 | 20 | 26 |M40X15) 12 |30 52 (M6 | &
6 |169 | 81 |140 | 510478 | 45 [6-M12| 20 | 20| 32 pos54| 24 (75|11 -1 [32 |12 |19 | 29 | M55X20 16 |36 65 |MB | 5
TF2B | B |20 | 91 (170 | 5(13335| 52 [6-M12) 22 | 25 |38.7 [ 35 | 30 |10.5/14.5(-1.5| 37 (14 (235 39 MeI20| 16 | 45 | B0 |MB | 5
10 |254 | 100 (220  5[171.45| 76 |6-M16| 23 | 30 | 51 (465 (345 12 [BS|-10.5 42 | 16 | 25 | 43  M85%2.0 16 | 60 | 102 [M10| 5
12 | 304 | 110 | 220 | 6 (17145 91 [6-M1G| 30 | 30 |61.3 | 56 |465 12| & (15|52 (21 | 28 | 51 |M1WHIUIE'U 60 | 100 (M1D| 5
15 |381 | 133 (300 | 6| 235 [117.5/6-M10| 16 |43 | 82 |76.7 (465 135/ 23 | 0 |62 | 24 | 43 | 66 M130X20 20 | 80 | 150 M12| 5

& - W9 - B8 - [BE - 28 PAOFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



s @ [

MR ZEH B A 8E (EEER)

4-JAW WEDGE TYPE THROUGH-HOLE

POWER CHUCK (WITH ADAPTOR)

BRYZ DIMENSIONS

fil TF4B- TF4B- TF4B- TF4B- TF4B- TF4B- TF4B- TF4B-
ﬁ: 6AS 8A5 8A6 10A6 10A8 12A8 15A8 15A11
A 169 210 210 204 254 304 L B N -1
B a1 109 103 120 113 122 160 | 163
G 116 133.35 150 17145 190 190 235 260
D 20 25 25 30 30 30 43 43
E 15 23 17 25 18 18 33 22
F 82.563 82.563 106.375 106.375 139.719 139.719 196.860 |  196.860
C(H6) 140 170 170 220 220 220 300 300
H 104.78 104.78 133.35 133.35 171.45 171.45 17145 | 235
J 16 13 18 18 24 25 24 28
K 4XM10 4XM12 4XM12 4XM16 4XM16 4XM16 4XM20 | 4XM20
L 4 52 52 [ 75 91 "is5 | 175
M 5 5 5 5 5 6 6 6
N max. 32 38.7 38.7 51 51 61.3 82 | B
N min. 29.25 35 35 46,6 46.6 56 767 | BT
Omax. | 24 30 30 3.5 34.5 46.5 46.75 46.75
0 min. 75 10.5 10.5 12 12 12 13.75 13.75
P max. 26 375 315 335 26.5 26 40 29
P min. 14 225 15.5 14.5 75 3 17 | 6
R 12 14 14 16 16 21 24 24
5 19 205 20.5 25 25 28 43 43
T 32 7 7 42 42 52 62 62
U max. MS5X20 | MBOX20 | MEOX2.0 | MB5X20 | MBSX20 | M100X2.0 | M130X2.0 | M130X2.0
% 4XME_ | 4XME 4XME | BXM1Z 4XM8 4XM8 A4AM10 4XM10
w 60 66 66 94 U 108 139 139
X 16 16 16 16 16 20 20 20
Y 36 45 45 60 60 60 80 | 80
Al 65 &0 &0 102 102 100 150 150
M1 M8 M8 M8 M10 M10 M10 M12 M12
t 5 5 5 5 5 5 5 5
Hfmﬂa Fig. 1 Fig. 2 Fig. 1 Fig. 2 Fig. 1 Fig. 1 Fig. 2 Fig. 1

M- WE - R - BB - 2H PROFESSIONAL - HIGH PRECISION - HIGH SPEED

- SERVICE - QUALITY




et = MR EESHEEAREE (ReEiiR) V

3-JAW WEDGE TYPE NON THROUGH-HOLE SERIES
POWER CHUCK (WITHOUT ADAPTOR)

Serration Pitch
67-18" - 1.5x60°
217, 24” : 3.0x60°

]
W}R18 SPECIFICATIONS BRI DIMENSIONS:
RY R
gt Dim 1\-206-208V-210 V-212|V-215V-218 V-221(V224 | | g 2™ | V-206| V-208| V-210| V-212 V-215|V-218| V-221| V224
Model Madel
MiTE (BE) A 165 | 210 | 254 | 304 | 318 | 450 | 530 [ 810
85 | 88 | 48 105 (| 16 | 16 | 16 16 [
Jaw Stroke (Dia) (mm) B 74 | B5 | B9 | 106 | 114 | 114 | 125 | 125
e 20 |20 |25 | 30| 35 |35 | 35 | a5 || KMH&) | 140 | 170 | 220 | 2% | 300 | 300 | 380 | 380
H mh e e e s a e e = e e
T M |5 |5 |s 6|6 |6|6]|68
BHHE  |Max(mm) | 65| 210 | 254 | 304 | 361 | 450|530 (610 || ¢ [10478 13335 [ 17145 | 17145 | 235 | 235 | 3302 ] 3302
Raebed [ ' ' : - 0 - 0 ) B I 0
Mingmm) | 12 | 12| 16 | 18 | 88 | 40 180 |50 f I T v | a2 | 6Mig | 66 | 620 | 6-M20 | e-M2e | 6wz
BAKEN N | o | 1w | 2|2 3|3n]3
1635 | 2540 | 2057 | 4181 | B352 | 8362  B362 | B3E2 -
Max. Pt Force ) F w | % | 2 | a0 | 4 | 4 | 60 | 60
Imﬁmmm 5000 | 4000 | 3500 | 200 | 2600|2700 | 1900 | 1750 | | [ax. | 678 | 463 | 511 | 6 | 775 | 108 | @65 | 15
Min. | 3355 | 419 | 47 | 5575 | 695 | 100 | 785 | 117
BARKT, SRR 11013 |15807 |2539 25391
hmmw‘h%% B 515 ‘xf}a%ﬁ%ﬁ 26| e Moo | 18 | 225 | 375 | 47 | 5025 93 | 93 | 93
- Min. | 75 | 9 [105| 1 |35 u | u | u
"-'I"-'iuht (ka) il i ol Kl sl i Bl o (Vx| 06 | 122 | e | @ | w4 | @ [ @ | o
|"""“""’““'"'“’"’a (kat.m’) 5 22 14 [ 16 | 18 | 255|255 25 [ 25
"imﬁimﬁcﬂm“ MH100 MH125(MH125 MH150) MH200 |ME-200 MS-200MS-200 R 3 35 40 50 a0 a0 65 65
umizhgm daw | P08 K8 | R0 W2 s |- Hew | [ s 15 15151 212/ 75]75
A& HC06 | HOOB | HC10 HC12-1HC15-1 [HC15-1 HC21-1 JHC2141 0 H - i C 60 | 60 | 60 | 60
Matching Soft Jaw I % | % | % | % | S5 | 55 | 55 | 55

m WM ME - 22 - WK - 8E PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



Uosravs = M ESHEARTE (asEEN) VA

3-JAW WEDGE TYPE NON THROUGH-HOLE SERIES
POWER CHUCK (WITH ADAPTOR)

Serration Pitch
67-18" : 1.5x60°
21", 24" : 3.0x60°

BiE+#H SPECIFICATIONS

EEE 5 L e e e e
(R Dim (Dia} {mm) | (mrm) | {kgf} (kg {kgiiem®) {r.p.m} {kg) (kgf.m?) Cylinder .' Soft Jaw | Hard Jaw
V-206A5 | 85 20 1835 5253/25.5 5270 125 | 0045 | MHI05 | HCO6 HJOG
v-208A6 | 88 21 | o540 7548/24 5 4765 544 | 0137 | MH125 | HCos HJog
V-210A6 | 8.8 25 PO57 10013/28.6 4010 40,85 0.3 MH125 | HC10 HJ10
v-210A8 | 88 5 | 2957 10013/28.6 4010 37.15 0.3 MH125 | HC10 | HJ10
v-212A8 | 105 30 4181 15807/27.5 3380 61.75 | 0.725 | MHI50 | HC12-1 | HJ12-1
V-215A8 16 a5 | B3z 25391/30.6 3000 105 1.8 MH150 @ HC15-1 | HJ15-1
V-216A11 16 a5 Haga PR391/32.6 000 103 1.8 MH200 | HG15-1 HJ15-1
V-Z21BAE 16 35 8362 25391/32.6 2700 124 2.41 MS-200 | HC151 HJ15-1
V-218A11 16 35 8352 25381732.6 2700 123 2.11 MS-200 | HC15-1 HJ15-1
v-221A11| 16 35 | 8362 25391/32.6 1900 193 51 | MS-200 | HC21-1 | HJ21-1
V-221A15| 16 as 8362 25391/32.6 1900 187 4.9 MS-200 | HC21-1 | HJ21-1
v-224A11| 186 35 | 83B2 | 25391/326 1750 | 239 7.5 | MS-200 | HC21-1 | HJ21-1
v-224A15| 16 a5 8362 25391/32 6 1750 233 7.1 MS-200 | HC21-1 | HJ21-1

IRT__rﬁ DIMENSIONS

— 35 vqua V—fgﬂ vfﬂus Vﬂn vﬂu \fﬂﬂ: Vﬂﬁ%‘\fiﬁtﬁgva"m V-Z218B |V-221 |(V-221 |V-224 |V-224
| Gim | 1 A8 Al A1 A5 | A1 A1S5
A 165 | 210 | 210 | 254 | 254 | 304 | 381 | 381 | 450 | 450 | 530 | 530 | 610 | 610
B 84 103 a7 109 102 118 141 130 141 130 146 146 146 146
c 104.78[104.78 | 133,35 133,35 |[171.45 |[171.45[171.45 | 235 171.45| 235 2535 |330.2| 235 |330.2
F 20 25 25 30 30 30 a3 43 | 43 43 =18 518 &0 G0
K | 140 | 170 | 170 | 220 | 220 | 220 | 300 | 300 300 | 300 | 380 | 380 | 380 | 380
L E-FA10 [B-M12 | B-M12 | B-M1E8 | 8-M1E |B-MAE |B-M1E8 &-M20 | &-M16 | B-MZ20 | 5-M20 | 8-M24 | 6-M24 |6-M24
M s | s s | s E e | e | & | s | &6 | 6 | &8 | 8 | 6
[ | 14 13 18 18 25 =25 =4 32 | 24 32 =8 = ) 28 St
P 21 21 25 34 e T T z - e - - - - =
T 18 | 23 | 17 | @6 | 18 | 18 | a3 | 22 | a3 | 22 | 27 | 27 | 27 | 27
W B2.583 | 82.563 106375106375 (139,719 139,719 [135.719195.869 139.719196_860 196,869 | 285.75 |196.8658 | 285.7T5
L 118 (133.356| 180 [171.45) 190 190 235 280 235 260 |330.2(330.2|330.2|330.2
Maax. 18 225 | 22.5 | a7.5 | a7.5 47 |50.25 50.25 |50.25 (60.25| 983.5 | 83.5 | 93.5 | 93.5
E "Min. 7.5 =] =] 10.5 | 10.5 11 23.26 | 23.26 |23.25 |23.25 | 24.6 | 24.5 | 24.5 | 24.5
G “} 5 5 5 5 5 =2 =2 3 3 =5 3 3 3
Max. | 82.56 109 115 133 140 145 71 az 50 70 70O ] 70 70O
H Min. 69.6 B8 =] 108 115 115 a6 47 24 35 a5 as 35 a5
i 36 36 fe 157 S5 S5 36 55 55 55 55 55 55 55 55
ol M1Ex2.0 |[M20x2.5 |M20x2.5 |M20u2.5 M20u2. 5 M20x2.5 M30x3.5 M30x3.5 M30x3 5 M30:3.5|M30x3.5 M30x3.5|M30=3.6 [M30=3 5
O 34 38 38 45 45 S50 (=18 (=18 (1] B0 (=1a] G0 &0 &0
Max. | 37.8 | 483 | 4B.3 51.1 51.1 a1 FF.6  FF.e 108 108 86 BG 126 125
o RAin. 33.5 41 .5 41.9 46,7 46.F7 |55.F75 | 69.5 55,5 100 4100 rd =] Ta 117 117
R a1 35 35 <0 <0 S0 S50 &0 S50 50 a5 55 a5 B5
s 12 14 14 1& 16 18 25.5 255 256 | 265 25 25 25 25
W S=hME |2=-M10| 3=-MME |&6-M12| &-MEB | &-MEB [EB-M1E6 3-M10| G-M20 | 3=-p10 | B-MZ20 | 3-M12 | 6-M20 | 3-M12
E-ii:i-' | Fig-1 | Fig-=2 | Fig-1 | Fig-2 | Fig-1 | Fig-1 | Fig-2 | Fig-1 |Fig. 2 | Fig. 1| Fig. 1 |'=|E, 1 'Fig_'z”F'ig_;- 1

B W - S - FE - AE PROFESSIONAL - HIGH PRECISION - HIGH sPeen - service - aualTy K



oty ans — T ch B85 MR SR EE (R2iEER) VT

2-JAW WEDGE TYPE NON THROUGH-HOLE SERIES
POWER CHUCK (WITHOUT ADAPTOR)

B
W37t SPECIFICATIONS BRYZ DIMENSIONS
BT H T
| Model
DE*E Model |YT.206 VT-208 VT-210/VT-212VT-215| RY VT-206 VT-208 VT-210 | VT-212 | VT-215
Dim
mise A 165 210 254 304 381
Jaw Stroke (Dia) (mm) 85 8.8 8.8 10.5 16 = - . ?4_ l _H.E _:_ BE_ 2L ‘EBB o 1’541: :
Ehmwﬁimh {mm) 20 ] 21 25 30 35 € |104.78 | 133.35 | 171.45 | 171.45 | 235
e ¢ Max. 18 | 225 | 375 47 | 50.25
e Max (mm) | 165 | 210 | 254 | 304 | 381 Min. | 76 | 9 | 105 11| 23.25
Gripping F 20 25 30 30 43
R ;i
g3 Minmmy | % | # | 2| 25 | 68 G 4 5 5 5 2
BT ' Max. | 1065 | 132 | 163 168 | 104
Max. Pull Force KN{kgf) ta{uﬂ}?ﬂﬁﬁﬂﬂ#ﬁ[ﬂﬂ]ﬂjﬁwmﬁﬂm} H Min. 865 e i 138 138 89
it m;ﬂ'“g Force KN (ig) | 243469 5015099) [72(7242) 10410505 pes 16627 | 36 | 36 | 36 36 55
= - J IM16x2.0 M20x2.5 M20x2.5|M20x2.5M30x3.5
mmaml! ki) 5100 | 4650 | 3810 | 3200 | 2800 K{H8) 140 170 | 220 290 300
T 2 | g & — L B-M10 | 6-M12 | 6-M16 | 8-M18 | B-M20
Weight (kg) 12 | = [ A B ]l M 5 5 5 B 6
RISEE | N 14 20 18 22 29
M tof | i {kﬂm?]' 004 _ .13 0.29 0.7 1.7 I:I- 4 a8 a5 50 80
E"Eﬂll m:I-:‘:yii-m MH100 | MH125 [MH125 [ MH150 [MH200 P 21 | 25 | 34 34 -
= " Max. | 378 @ 463 51.1 61 77.5
m"?m,,,, E,,,” i HCO6 | HCOB | HC10 |HC12-1 [HC15-1 Min. | 335 | 419 | 467 | 55.75 | 69.5
= R a 35 | 40 50 50
W |
Matching Hard Jaw HME | HJO8 HO | HI12-1 |HJ15-1 s 12 14 16 18 o5 5

IREN 52 2= 43 - 55 - S8 PROFESSIONAL - HIGH PREGISION - HIGH SPEED - SERVICE - QUALITY




V=% - L3 =Bl

VERTICAL POWER CHUCK

e ASIIT, - #63l, ~ SAHID0L -
@ Suitable for vertical milling and drilling operations.

SE

DOV

RIES

"o
B
A
Mi8+t% SPECIFICATIONS
Rt AEmR e - eiTE s
Dim | FEZEE | EffectivePistonArea | " (- " | Max. Draw BarPull | Eif BEERGRED | ERENE
Piston Dia Welght | Max. Operating | Matching
A k| Stroke HE #i
ﬁ (mm)  |pugh Side| Pull Side | (mm) |Push Side| Pull Sige | (Kg) | Pressure (kgiicm?)|  Chuck
(cm?) {cm?) (kaf) {kaf)
6" It DOV | =115 104 78.5 20 1900 1400 12 20 V208
8" IE DOV | o155 187 148.6 17 3600 2800 21 20 :g‘i':
MR Y% DIMENSIONS
B | g | 8t IR B | gr e | st TN
ﬁf{ Moen] DoV DoV E,E e DoV DOV
A 220 285 K 55 5.5
B 205 250 L 15 15
e &104.8 S133.4 M 50 &0
D =168 =210 N Mi14axP2.0 M1E6xP2.0
E =140 a170 O M1 25249 M1 224
F o585 70 P 4-@213 4-313
G 60 80.5 Q PT1/4" PT1/4"
| 16 24

BE - BT - B¥ - FE - 2E PROFESSIONAL - HIGH PRECISION - HIGH SPEED -

sepvice - aual Ty EENEE




Uty = Meh 57K 5858 (aREEiR)

3-JAW WEDGE TYPE NON THROUGH-HOLE

WATERPROOF POWER CHUCK (WITH ADAPTOR)
o [7KFEIRERAMRII TR\ T.CNCERE -

VW-A

SERIES

e Waterproof power chuck is suitable for et
vertical and horizontal CNC lathe. 21% 24"3.0xB0"

PS: 1.D7:30",18"
2.0":.80" ,21"-24"

WiRt% SPECIFICATIONS

B | MATHEEE)| EEWTH | BN WECEERF | RS .
ot | o | e || iy, | e |z T meem | me e |mecmn
T Stroke Stroke | Force |Max. Gripping Force | (F.p.m) tkg) Inartia Cvlind Soft i | hdiia
[Dim {Dia) {(mm}) |  {mm) {kgf) (kgfy (kgffem?) {kgf.mZ)
VW-21BAB 16 35 8362 25391/32 6 2700 | 134 | 241 | MS-200 | HC-15-1 | HJ-15-1
YW-218A11 16 35 8362 25391/32.8 2700 123 2.1 MS-200 HC-15-1 | HJ-151
VW-221A11 16 a5 8362 25301/32.6 1900 | 193 | 5.1 MS-200 | HC-21-1 | HJ-21-1
VYW-221A15 16 35 8362 25391/32.6 | 18900 187 4.9 MS-200 HC-21-1 | HJ-21-1
VW-224A11 16 a5 8362 25391/32.6 1750 | 239 | 75 MS-200 | HC-21-1 | HJ-21-1
VYW-224A15 16 35 8362 253817326 | 1750 233 71 MS-200 HC-21-1 | HJ-21-1
MR Y3 DIMENSIONS
AU
B model VW-218A8 VW-218A11 VW-221A11 VW-221A15 VW-224A11 VW-224A15
Dim | ]
A 450 _ N 450 . 530 | 530 | 610 L 610
B 141 130 146 | 146 | 146 146
C 171.45 235 25 | 3302 | 235 3302
F 43 43 60 . B0 | &0 60
K _300 . 300_ __ 380 | 380 | 380 380
L B-M16 B-M20 6-M20 | 6-M24 | B-M20 B-M24
M 6 6 - 6 | & | 6 L 6
N 24 22 24 | 34 | 28 34
T 33 22 27 27 27 27
L 139.719 196 869 196.869 | 2B5.75 l 196869 28575
T 171.45 235 235 3302 235 330.2
E | Maxx. 50.25 50.25 3.5 83.5 | B3.5 83.5
| Min. 23.25 23.25 24.5 | 24.5 ? 24.5 74.5
LT 3 : 3 . 3 | 3 | 3 3
H | Max. 71 78 56 56 | 56 56
: . Min. | 36 i 43 : 21 | 21 | el : 21
[ 55 55 55 55 55 55
. I M30X3.5 i M30X3.5 . M3I0X35 | M30X35 | M30X35 _ M30X3.5
a Max. 108 108 88 86 125 125
__Min 100 N 100 . 78 | 78 | n7z L "7
R 62 62 62 | 62 | 62 62
S 255 i 255 £ 25 25 25 : 25
w 6-M16 - 6-M20 . - | B-M20 -
X 16 . 16 . 16 | 16 | 16 . 16
Y &2 prd 22 | 22 | e 22
P 22 22 22 22 22 22
0 a7 a7 37 ; 37 _ 37 37
z B0 B0 B0 B0 B0 B0
il Fig. 2 Fig. 1 Fig. 2 __ Fig. 1 _ Fig. 2 Fig. 1

BE BT &3 - [BF - RH PROFESSIONAL - HIGH PREGISION - HIGH SPEED - SERVICE - QUALITY



o ens 553 oh 22 30 4% 5H EE L RC

SUPER HIGH SPEED THROUGH-HOLE SERIES
ROTARY HYDRAULIC CYLINDER

B1

i
et
=

NiHTY

o PIHTELER - (With check valve)

MiRtE SPECIFICATIONS

EEE
e Effective Pistan Area | S 0R1 1 08 ?Eﬁ EEERED| RN BEE | (EOEipaE
@) | piwon | W | e | moment | weignt (G port g
@ | Sj@ | *oke |Maxspeed  press inertia irvbeemsal ail laakage
Modiel \ | daet | e | () | Gpm) | Gtk | gty | 4 (i)
4 |47 |415| 9 8OO0 0.02 | 5.8 3
5 | &7 |845| 15 | sooo | 0.044 | BB 3
RC 6 |100 | 89 16 7000 0.078 12 3
B |181| 150 | 22 | &200 | iz 021 | 168 3.9
10 |[188 | 183 | 25 | 4700 038 | 26 4.2
10X | 198 | 183 | 25 | 4700 038 | 26 4.2
12 | 252 | 234 | 30 3800 0.81 a3 4.5
MR Y3 DIMENSIONS 15 |345| 336 | 23 | 2800 121 | 55 E
TR Symbol J v | W
S Sor C/ D|E|F |G HEEKHN PETHmuminimuminZA
4 115 | 100 | 80 | 65 | 44 |M3sN15 28 | 25 | 35 59 |90 (105|158 | 9 | 0 |34 | 25| 5 |78
5 135 | 115 | 100 | 65 | 48 |(M42015 36 | 30 (448|855 73 (106 | MS(1755 10 -5 | 40 25| 5 |88
6 155 | 130 (100 | 80 | 65 |MsEN2 | 46 | 36 |652.9| 64 | B85 | 1B |15 (184 10 | -5 | 40 | 25 | 5 |98
RC 8 190 (170 (130 | 85 | 70 |Meox2 | 52 | 36 [se6| 73 | @6 (137|130 (196 | 17 | -5 | 47 | 25 | 5 [110
10 215|120 (160 (120 | 95 [Mesx2 | 75 | 36 |Ba6| 98 | 121|186 |160 (230 | 20 | 5 | 50 | 25| 5 |155
10X |215 190 (160 (120 | 95 | M87X2 | 78 | 36 (B46| 98 | 121|166 160 (230 | 20 | -5 50 25 | 5 (155
12 240 | 215 | 180 | 140 [ 110 [MI00X2| 91 | 36 |DO.6|108 138|182 | 185 (253 25 -5 | 56 25 | 5 [185
15 310 | 275 | 230 | 166 | 140 |M130X2117.5| 36 | 118 |148 | 178|225 | 215 267 | 18 | -5 | 56 | 33 | 5 |206
%R Symbol
a1|B1/c1| E1 | F1iGgq1 g1 |k1|L1 [M1|N1[P1| Q1 |R1 /81 |T1 W1 |x1
#R48 Series RE =2E BE
4 95 (106 | 25 |mexi0 | mex20 [114.5) 60 | 47 | 15 |30 | 53 | 4 [ mexi0| 5 |PTaB| & | mas0s | 32
5 | 11 [120.5) 25 | M5X9 (MIOX20[126.6( B6 | 47 | 16 | 38 | 64 | 4 | MSX10| 6 |PT3B| & | Me15 | 42
6 11.5 1265 30 | M6X9 Mox20(135 | 76 | 47 | 15 | 50 | 76 | 4 |msxw| & |PTuR| & | msmas | so
RC 8 |12 [138 | 30 | Mexs (MiN20|145 | 86 | 47 | 15 | 55 | 85 | 4 | mexiz| 7 PTi2| & | MseXis | 56
10 17.5153.5 35 | Mexs (Mioxzohee.5 101 | 47 | 15 | 80 |108| 4 | mexiz| 7 [PTuz| & | MBaxzo | 81
10X 17.5(153.5) 35 | MeXs MiOX20[166.5 101 | 47 | 15 | 80 (108 | 4  Mexi2| 7 |PTi2| & | Msax2o | 81
12 21 (168 | 35 |mex14 Mm2x24|183 (110 | 47 | 15 |95 120| 4 [ wmexiz| 7 |PTi2| B MIgxz | 96
16 | 21 [153.5 45 |[mati0s|/miexa4| 197 (120 | 55 | 20 (123 (180 5 | Mexi2| 7 | PTi2| & Mizaxz | 134

EE  HE - ¥ - BF - 28 PRAOFESSIONAL - HIGH PRECISION - HH3H SPEED + SERVICE - QUALITY



Uomtras #8 - 7 - BYSHEREL RCS

SHORT TYPE CYLINDER SERIES

(=] . | ]
#5718 SPECIFICATIONS
EEER . | mmmm | memm | |
QT MREARR | o e | 2w | WP | PR\ | e |
o/aF « VR BN [ Eona |28 Rorac| )| MBspsed | Mk presqure| efinerle | Y™ | gt since tmi)
*Ultra thin. 2/3 of ori- 6 100 89 15 8000 0o0m | 8 2
nginal length. RCS| 8 148 138 22 6500 40 0128 | 13 3.8
10 183 169 25 5500 0.251 | 187 4.1
RI#% DIMENSIONS
ARETIEM  T2EH R r T
BEREDETM - c|p|E|F|G| H |g@/K|M|N[P|S|T|U zZ|a|B
*Built-in check valve r.%il A8 Max | min | max | min
» safty Auto lock and 6 |185(130|100| 80 | 65 |M55X2.0| 46 | 40 |52.9| 64 |85 [116 120 1395 14 | -1 [40 |25 | 5 |08 |147
pressure relief valves. |rcs | 8 |[185[170|130| 85 | 70 |meox2.0] 52 | 40 |s8.6| 73 | 96 |135|130 is0s{ 21 | -1 |42 | 20 110 165
10 |215(190 (160|120 | 95 |M85X2.0| 75 | 46 [84.6| 98 |121 (163|160 |1£E-.5 24 |1 |B0 |20 | 5 |165(|105
(3 EX ST Yl a4 £
i o Eﬂ:m Al |B1 mﬁﬁé ;émﬂmummmg;mm T w1 (X1 Y
*Assembling from rear | model
side is available. 6 [05]105| 30 |mexs 1015 76 | 47 |15 |50 | 76 1.5 [Msxe | 5 |PTY,| & [Ms2x1.5| 50| 6MexTs
RCS| 8 |[11.5 0.5 30 | MexXo Mixa0[110.5| 86 | 47 |15 |55 | 85| 3 |Mex7|5 |PT'| 6 |Msex1.5| 56| emexso
10 175 fizs.5 35 |Mex1oaxachize s 101 | 47 |15 |80 [108) 3 [mexz| 7 [PT'| 6 [Meaxz.0 81 |enmoxeo|

WE - W2 - U8 - B - 28 PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



EEGMHHUEI‘WJ > E

18R S5 5H [BR

MH

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

SERIES

\ A 49
o)

o FESHRESTRE ' Bl \EEE
SR THEE -

o ERRHIRBNED  BEERECEBR -

o Compace size and light weight, made of alloy aluminan to lighten
loading of spindle.

@ Suitable for high speed turning.

K M
81 L 5
11 i M
2PT38" | | A:Bore | J
B:Stroke _.
féﬁ‘q ( :
i i -
B W -'_| e ——
et R _;‘{ -%‘u%nu
LAI/.\ :!I ]
L/ ;
i H
, =
| “4-M5x10 L
| F|T 1]
40 40 Q
F
M#7+8 SPECIFICATIONS
- SEEH BAEENN | SEEAER) | AR | BEeE | EE | W
5, ETE Piston Area Max, Draw | Max.Operating | Total |Max. Speed | Weight | Moment of
MODEL | Piston Stroke ™oy s Bar Pull Pressure Leakage | (pm} | (kg) Inertia
(mm) Push Side | Pull Side | KN(kg! MPalkgficm?) |  (Vmin) Nm g
{cm) i)
MH75 15 44 as 15.5(1560) 4.0(40.8) 0.8 6,000 3.8 [0.108(0.011)
MH105 20 A6 a1 32(3240) 4.0(40.8) 0.8 6,000 6.3 | 0.29(0.04)
MH125 25 122 115 A46(4800) 4.0(40.8) 0.8 6,000 =] 0.88(0.08)
MH150 30 176 160 63(6424) 4.0(40.8) 0.8 5,500 12.5 | 1.88(0.19)
MH200 as 314 290 113(11523) 4.0(40.8) 0.8 5,500 21 3.82(0.39)
MR DIMENSIONS
Bz
MODEL A | B | C|D|E|F |G H J K | L M |Nmax| Nmin. P Q
MH7T5 75 15 | 104 90 B& 30 | 21 M20X2.5 35 147 | 66 102 | 48 31 | 6-MBX125 | 108
MH1I05 | 105 20 | 135 100 | 80 a0 | 21 M20X2.5 35 (170 | 89 | 125 | 45 | 25 | 6MI0X1.5 @ 131
MH125| 125 25 (180 130 (110 | 35 | 25 M24X3.0 44 178 | 97 133 | 51 | 26 |6MizxX1.75 139
MH150| 150 | 30 |190 130 | 110 | 45 | 31 M30X35 4% | 187 | 106 | 142 | BE | 26 |[12-M12X1.75 148
MH200 | 200 235 | 245 145 | 120 | 55 | a7 M3EX4.0 60 203 | 122 158 | 89 | 34 | 12-M16X30 164

Y -RE-RE PR

28 PROFESSIONAL - HIGH PRECISION - HicH sPEeD - service - auaLTy TN




o e

C

19 50 85 5 BR L

NON THROUGH-HOLE ROTARY HYDRAULIC
CYLINDR

MS

SERIES

o AHEEILR - ERNEHERITRKESEFESHERNIEETE
R BRE - BFRLIFRECER -

@ Whenever the hydraulic pressure is depressing (for example: main power
shut down,damage of the hydraulic pepe..ect. The check valve will
remain the pressure for preventing any damage by accident.

K P
L i M 2
1 ! M
2-71‘4 3 A:Bore J
B:Stroke |
} T ;
I / g Hdo
g
N
Lo \4-M5x10
| R
40 _ 40 R

M #7+% SPECIFICATIONS

_ EEER BCHIIRNED | BSEABED | mas BT | SE | WG
@, | B=E | EffectivePistonArea | MaxDraw | Max.Operating | Total | Max. ht| Moment of

p Speed | Weig
{mm) Push Side Flﬁllﬁﬂ — <17 Pull side> MPa (Vmin) 2 {lgh.m®)
e | P | kgt (kgcm?)

MS105 20 a6 78 29(2957) 4.0(40.8) 0.8 6,000 7.1 0.0125
MS125 25 122 113 42(4283) 4.0(40.8) 0.8 6,000 10 0.0225
MS150 ao 176 180 60(6118) 4.0(40.8) 0.8 5,500 13.5 0.0475
MS200 as 314 200 10B{11013) 4.0(40.8) 0.8 5,500 2o 0.0975
MR Y3 DIMENSIONS
S lan|e|[b 2 E e H |4 K|L|M N |wik Q R
MS105 | 106| 20 (136 (100 | BO | 30 | 21 | M20X25 | 36 (197|108 | B9 |152 | 456 | 25 B- M10X20 168
MS125 | 125 | 25 (160 (130 | 110| 35 | 25 | M24X30 | 44 |205 (108 | 97 |160 | 51 | 26 B- M12X24 166
MS150 | 150 | 30 (1920|130 | 110| 45 | 31 | M30X35 | 45 (214 | 108 (106 169 | 58 | 26 12- M12X24 176
MS200 [ 200 | 35 | 245|145 | 120 55 | 37 | M36X40 | 60 228|106 122 (183 | 68 | 34 12- M16X30 189

W R R 4.0MPai40.8 kg/em?)
W R EE 3.0MPa(30.6 kg'cm®) ESRMS0 'C

M Oraw bar pull lorce:Prassure 4. 0MPal(40.8 kg/om =)

W Total leakage Pressure 3.0MPa(30.6 kg/em¥and ail femperture 50 'C

BE - W|E -0 - [BF - 28 PAOFESSIOMNAL - HIGH PRECISION - HIGH SPEED - SERVIGE - QUALITY




Uosrevs o EE 8 5 R T MS-C

NON THROUGH-HOLE ROTARY HYDRAULIC SERIES
CYLINDER

o FIPTH RS -

o BAEREE -

® Built-in safety check valves.

11 M

2xPT 38"
— | | A:-Bore J ’
o B:Stroke L
2
&
. J 1 =
Y L L4 oHH [N !
] = 1 1 ale -
8-11 ‘ ‘ . R B \g
=
Mif48 SPECIFICATIONS
5, BT | EffectivePiston Area | Max.Draw | Max. Operating | 'r..° | WEME ht |Moment of|
Weig
MoDEL | Piston Stroke R ST Bar Pull Pressure MPa | | ..\ 0 (Max.Speed = .., Jeisoe
e | ™y KN{ka) {kgticm)
MS105C 20 B84 79 29(2957) 4,0(40.8) 0.8 6,000 7.6 |0.0125
MS125C 25 120 113 42(4283) 4.0(40.8) 0.8 6,000 10.5 | 0.022
MS150C 30 174 180 BO(B118) 4.0(40.8) 0.8 5,500 14 | 0.047
MS200C 35 312 290 108(11013) 4.,0(40.8) 0.8 5500 @ 22.5 | 0.097
MR Y5 DIMENSIONS
e la|Blc|p|E|F|G| H |J|K|L|M|N &l Q R|S|T
MS105C |105| 20 |135100| 80 30| 21 |M20X25 35|252(163| 89 (152 45 | 25 B-M10X20 158 | 23 | 41
MS1256C |125| 25 1BD-1ED 11::- 35 | 26 M=4xa.u§| 44 | 2680|163 | 97 |160| &1 EB- B-M12X24 166 | 23 | 41
MS150C |150| 30 | 190 130|110 45| 31 |M30X35 45| 269|163 (106 1698/ 56 | 26 12-M12X24 175 | 23 | 41
l.tsznm: 200| 35 |245/145|120| 55 | a7 MHEJH.U% 80 (288186 (122 |[185| 69 | 34 12-M1BX30 189 | 28 | 48
W IR « HRD 4.0MPal40.B kgicm?) B Oraw bar pull force-Pressure 4.0MPa40.8 kg'em®)
W EER  GHEEY) 3.0MPa(30.6 kg'om ) BEESD C B Total leakage -Pressure 3 .0MPal30.6 kgicmand oil femperture 50 T

W iTERR : M BESS16-329-E4-Y(BALLUFF) DC 12/24Y 200mA NPN B Proximity switch:Model BES516-329-E4-YOBALLUFF) DC12/24Y 200mA NPN

W - W - 28 - 5 - B PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY



o 32 % 6 R 5T S 7K 4

HYDRAULIC CYLINDER COOLANT
COLLECTOR

M-B

" SERIES

o
H—
o IZETERBEERHKON - B
@ Hydraulic cylinder coolant collector. iy
Compact and light weight, the feature is the 1
: : ] i

bore size up to 20% larger than conventional \7_’!

cylinders. Precision finished piston a1 PT1Y | €

bores and cool running rotary unions have F D

trouble-free performance for years.

MR 75% DIMENSIONS
&L
A B c D E F G H Imin | Maiching
cylinder

CMOBB 78 &1 42 84 115 &60.5 80 & 22 RC-4
CM10B 78 75 a2 84 116 60.5 20 & 22 RC-5
CM12B 118 ar 42 a88.5 131 TG 107 & 23 RC-6
CM1i15B 158 a8 a4 88.5 151 96 147 6 23 RC-8
CMi1B8B 158 123 14 88.5 151 a6 147 & 23 RC-10
CM20B 158 140 44 B8B.5 151 96 147 (= 22.5 RC-12
CM258B 198 180 A4 105 215 1268 200 & 25 RC-15

m B - - BE - 0% - B2E PROFESSIOMNAL - HIGH PRECISION - HGH SPEED - SERVICE - QUALITY



Uomns e fE ST T\

STANDARD HARD JAW

HJ

SERIES

L} oy
21 —
5
'-..,q__j_-l:_____,.r
Drawing of Serration
i
OO =
1 E \J ]
1
]_,_J—? J-7
J-1
e ‘ J-6 J-8 -2
= ]
- § =
bt | ! - -
i ! o : ]
- i { i I{&
1 1 G R | .
; Ll _I F- 3 LLEEE = S -
J-10 \ 12 N, % Lﬂﬂ W12 N B J-4 '
: Snlmfﬁm n
Fig A Fig B
B[R 5 DIMENSIONS
m J-1 | J-2 J-3  J-4 | J-5 | J-6 | J-T | J-8 | J-9 |J-10|J-11 J-12|J-13 HSEHE ¥
Serration | Reference
HJOS5 B3 23 27.5 10 E: 30.5 14 26.5 13.5 8.5 10 WM ] (=] 1.5X&0% B
HJDE6 67.5 | 3= 3s 12 5 30 20 | 285 | 17 11 12 mM10 10 |1.5%60°| B
HJOB a6 as 51 14 5 31 25 18 19 13 12 M1z 12 | 1.5¥60°| A
HJ10 a9.5 | 40 54 16 5 43 30 17 19 13 13 M12 | 185 |1.5XB0°| A
HJ12 103 5O B2 21 5 GB2.5 | 30 | 40.56 | 25 17 17 Mi& | ap |1.6X60°| B
HJ12-1 103 1] 52 18 5 2.5 | 30 | 405 | 22 15 17 Mi4 | ag | 1.5Xe0°
H-J"I 5 149 g2 a8 22 B 83 43 3 a2 21 20 MMZ0 10 1.5X¥a0% A,
HJ15=-1 149 82 as 25.5 5 83 43 =4 32 24 20 r20 40 | 1.5¥80°
H.J-21 185 &5 [=Tu] = o 104.5 | S0 55 b 21 A0 MZ20 55 | 3.0=80°| B

W BE G B S8 PROFESSIONAL - HIGH PRECISION - HiGH speeD - service - auauTy B



s o st~

E T\

STANDARD SOFT JAW

HC

SERIES

[ ]
oy O
W
i
s
Drawing of Serration
Vil W
= 1 L1200 i
..... i T e e 7era
Nz g s R :
oy iy
s i \h
. J-1 )2 N
J-6 J-7 J-B
L il
|
i
- |
= (o) 1
: X '
J-10 B \J12 -14
J-g Serration J-4
B Y3 DIMENSIONS
B HModel | d-1 | J-2 | J-3 | J-4 [J-E | J-6 | J-7 | J-8  J-9 |J-10|J-11|J-12|J-13  J-14 Ej’gﬂ. - E&
HCD4 48,5 23 23 10 4 10 14 25.5 | 13.5 8.5 14 MBS . | 1.5¥60°
HCcos 54 23 25 10 3 12 e 28 13.5 5.5 16 S 5 1.5X60°
HCD& [ az 28 12 5 12 20 3 17 11 16 M1 5 12 1.85XEB0°
HCO8 95 a5 as 14 5 24 25 465 19 13 23 Mi2 12 20 1.85X&0°
HC10 110 41 42 16 1= 230 30 50 19 12 27 M2 18 20 1. 85X¥E50°
HC12 130 50 50 21 1= a8 30 B0 25 17 30 MG 18 a0 1.5X60°
HC12-1 130 L-Th] 50 18 & a8 a0 [Z1n] 23 15 30 M14 18 a0 1. 85x6B0°
HC15 165 G52 562 22 =1 a7 43 a5 az 21 as MZ0 1.5XE60°
HC15-1 1256 | 50 | 80 (2558 | & 26 | 43 | &8 | a2 21 | 39 |mMm20| - - 1.85X80°
HC-21 185 G2 T 25 =] 0 B0 86 3z 21 48 | M20 - - 3.0=80"

IR 55w 5 EE - R PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY




Wamasrasy E) s TR i PR EE
POWER OPERATED COLLET CHUCK

SERIES

F!I
I —
=TT
3
el =
AIB|IC|D| E|F| G = 2
K
= i l
———— n i
1 e J—
- i
.,
M
. L
B RT3 DIMENSIONS
1945
g —-Model | C| 30-A4 | CL36-A5 | CL42-A5 | CL42-A6 | CL52-A5 | CL52-A6 | CL60-A6 | CL60-A8 CLB80-A8
Dim
Hmﬂpud TO00 BO0O0 6000 000 6000 G000 5000 5000 4000
Steel Collet 163E 171E 173E 173E 177E 177E 1_EE-E 185E 1893E
A 112 135 135 170 135 170 170 220 220
| B | @26 [ 1048 [ 1048 [ 1334 | 1048 | 1334 | 1334 | 1714 | 1714
C 63.5 82.56 82.56 106.36 B2.56 106.36 106.36 138.7 138.7
D M50xP1.5 | MEExP1.5 | MBExP1.5 | MBExP1.5 | MTOxP1.5 | M30DxP1.5 | M20xP1.5 MS90xP1.5 M114xP2.0
E 45 62 62 66 62 66 66 a0 108
F M40xP1.5 | M55xP2.0 | M55xP2.0 | MBOxP2.0 | M5SxP2.0 | MB0OxP2.0 | ME0xP2.0 MB5xP2.0 M100xP2.0
G 20 30 30 30 a0 30 30 30 30
K 23 23 23 23 23 31 31 3 31
M max 21.5 26 26 29 26 33 33 33 34
M min 16.5 21 21 24 21 28 28 28 29
N 30 27 27 32 27 27 27 a7 a5
d 30 36 42 42 52 52 60 60 80
(0] B7 103 103 103 113 132 132 132 155
L 110 129 1259 133 129 155 155 _ 155 175
P 3-M10x30 | 4-M10x30 | 4-M10x30 | 4-M12x30 | 4-M10x30 | 4-M12x30 | 4-M12x30 4-M16x35 6-M16x35
Q 8 8 8 B B 8 8 8 11

W% - @E - #E - HE - 28 PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY m




o el L e A

STEEL COLLET

ad

BR Y DIMENSIONS

E Max Dia
A B d L

s

Model O ) =
163E 39 498 35 B0 30 27 22
1T1E 42 Li1a 42 94 a7 32 26
173E 50 B0 48 94 42 36 2B
177E &0 T0 58 94 52 45 J6
1B5E 73 B4 BB 110 B0 50 40
193E a2 107 90 130 B0

POWER OPERATED COLLET CHUCK

U Sh 78 BB A HeE '_44.A5

n -
AlB|C|DIE|F|IG - . g.r (0]
B! _FF\—I_I__

M
M

B R Y% DIMENSIONS =

Ry
Steel
ﬁﬂﬂmﬂnlﬂtﬁlac D E F EKL..:':“:.:.IGH P

CL44-A5 | C44 135 (104.8 |B82.56 M70xP1.5| 62 M55xP2.0| 30 | 23 121 | 27 | 22 | 44 | 113 | 27 |4-M10x30

WE  WE - 45 - [FF - B PROFESSIONAL - HIGH PRECISION - HIGH SPEED - SERVICE - QUALITY




otsrann” Sh e R E S IREE
POWER OPERATED COLLET CHUCK

=
m
L8]
o
m
i |
o
T
I|'=
d max
o

| e
Zn
M
L
BR Y% DIMENSIONS
mﬁmmﬁBﬂDEFﬂHKL“HHUHFI
sl Collet max min |max

CL36-140D|171E | 155 | 140 | 126 |104.B|MB66xP1.5| 62 HM55xP2.0| 30 | 23 (1135 5 O | 36 |[103| 23 4-M10x25| 6

CL42-140D|173E | 155|140 [126 [104.8 | MB6xP1.5| 62 | M55xP2.0| 30 | 23 1135 5 | 0 | 42 [103| 23 |4-M10x25 | 6

CL52-170D|177E | 185 | 170 |152 |133.4 M90xP1.5| 90 A MB5xP2.0| 30 | 31 | 139 | 11 6 | 52 |132| 30 |4-M12x25| 6

CL60-170D|185E 185 170 (152 |133.4 | MO0xP1.5| 90 | MB5xP2.0| 30 | 31 | 139 | 11 | 6 | 60 |132| 30 |4-M12x25| 6

1
'8

W& WME - E - FE - 28 PROFESSIONAL - HIGH PRECISION + HIGH SPEED - SERVICE - QUALITY



WS

@ CNCEE AR A AR

@ EFEDRBEHETE
@ BEERRKER

@ HEFT ~ B

PROFESSIONAL MANUFACTURE OF
® POWER CHUCK FOR CNC LATHE
@ HIGH SPEED HOLLOW HYDRAULIC CYLINDER

@ COLLET CHUCK
@ HIGH PRECISION HARD JAWS AND SOFT JAWS

BERBIERKRIDBMRAT  Agent:

TON FOU ENTERPRISE CO., LTD.

BPHAEREXEIE461%

NO. 481, Dali Rd., Dali District, Taichung
City, Talwan.

TEL:886-4-24079695 FAX:B86-4-24066186
E-Mail:tonfou@ms26.hinet.net
Htlp:www.tnnfnu.cnm

2011.15%




